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PART—I /899 5™

( Botany )
(BfewRan)

1. What is inflorescence? Mention the special types of
inflorescence with example. 1+2

iR 1 7 Srrgerre Rem oesm ooRepTef Soay e |

2. Define transpiration. Write its types. 142
ATIRCA KT 18 | SIRGR (T |

Or/ &% r

Explain the graphic representation of glycolytic process of
plant respiration. 3

TR Wi aftreEiiie e e = Irm I
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3. Who discovered the plant cell?
TRw IR @ RER FEMRE 2

4. What is stomata?

“Tadn 2

5. Why is potato called underground stem?
HECF TETS IS (P I T ?

6. Name four whorls of a complete flower.

35 3oyl oo vRD Sod TN @A |

7. Write the harmful role of fungi.
RACTA SR SR (o0 |

8. Differentiate between simple tissue and complex tissue. 2

e Foll R Tioa IR NP NAFT AT |

9. Draw and label an yeast cell.

b HBRIIER =R e BiEe v

10. Distinguish between prokaryotic cell and eukaryotic cell. 2

ATRFAY (PN G2 FACINCTAN (I TP N Al |

8C/16A

( Continued ) .

nl
-

(3)

11. What is hormone? Mention various growth hormones

found in plants. 1+2

W &7 S oy Rt s wamieh S v

12. Describe the different types of vascular bundles found in

the plants. . 3
e one RiST 21T Ak IRe1-97 3671 718

13. Define mitochondria. Describe the structure and functions

of mitochondria with diagram. 1+4
NRCBRASTR I 718 | R NROBRISTE 97 932 IR 39671 36T |
Or/ %31

What is five-kingdom classification? Write the major
characters of five-kingdom classification. 1+4

of5-zren CaRR=eT 7 2 Av-arw e MRIeR 2um sRaek @ |

14. Describe the major differentiating characters in between

Calvin cycle (C; plants) and Hatch-Slack pathway
(C4 plants) of photosynthesis. 5

AEARPRENR  @F@fed 5& (Cz; Ofgw) < o  afeew
(C,4 TfeW)-97 TR 24 RT3 SRqel 36 3T | |

8C/16A ( Turn Over )



(4)

PART—II /58 =i+
( Zoology )
(R )
1. Choose the correct answer :

g Tealt @IS :

1x5=5

(a) Which one of the following animals is hermaphrodite?

Neva @R A6 Toufors 2

(i Honey bee
iR

(ii) Housefly
g

(iii) Ascaris
SRR

(iv) Leech
S

(b) Islets of langerhans’ is found in

TSR [ee@’ NS W

(i) spleen
s

(ii) liver
e

(iiij pancreas
Aokl

(iv) pituitary gland

Fpe afere
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(c) The number of cranial nerves in a mammal including

(@)

man is
T R S0 TR e AR W R T
@) 10
(i) 12
(iii) 24
(iv) 36
Antigen is not present in which of the blood groups?
@ TS I SIFBee= ACF 1 2
(i) Blood group A ‘
T A
(ii) Blood group B
T B

(iii) Blood group AB

I AB

(iv) Blood group O

@ O
The primary structure of protein is due to
cofoea RS SIotR IRT ==
(i) hydrogen bonds
FRGEA T
(i) peptide bonds
R EVEE T
(i) ionic bonds
SR 39N

(iv) disulphide bonds
TTPIRS I
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2. Write the answers very briefly (any foun : 1x4=4

TS FRCHCA Teq (RN (I GRD) -

(a) What is ‘flame cell’?
PR e’ 2

(b) What is called the pacemaker of the heart?
TSI CPIRR I (I FAMDF) I = ?

(c) What is the function of rennin?
QAR % 2

(d) Why is toad called poikilothermic?
JNETF GFOAR (G I T ?

(e) What is synapse?
AP F 2

() What is anaerobic respiration?
RIS P 52

- Write the difference between the following (any two) :

2x2=4
Rarestr Tty «ide @ (@ Qe 9b)
(@) Bilateral symmetry and Radial symmetry
faengl e g3z SR e
(b) Ectoparasite and Endoparasite
IR RER @33 T@eoREA
8C/16A ( Continued )

(7))
(c) Blood and Lymph
TS R TP

(d) Ureotelic animal and Uricotelic animal

FRSHBET AN 9R RO =4

4. Answer the following briefly (any three) : 2x3=6

fareelR R TeT @1l (A @i o) -

(a) Write four distinctive characters of mammalia.

TR SR RWE 7% e

(b) Why is meosis division most essential for sexually
reproduced animal?

A 2 F QIR & (9 BT Rerew Som ai@eay 2

(c) Why is enzyme called as organic catalyst?
BTBFCE (TR 6T I W 1 2

(d) What is Bohr’s effect?
(TR-<9 o1 12

(e) Write the chemical properties of hormone.

TR IPTRNE 21Pfea T e |

5. Write short notes on (any two) : 3x2=6

e B oot (@ e 4B)

(a) Prototheria
cofTehTeRfRa

(b) Connective tissue
RATEF Fel
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(¢) Dentition in man
TR WBRUPT
(d) Cell cycle
(F{ °F
(e) Reflex action

28 &

6. What is digestion? Write briefly the process of digestion in
stomach. 1+4=5

oI5 ¥ 2 IFEAR “AoGaR R IRCHC! (&edn |
| Or/e=r

What is haemoglobin? Write the role of haemoglobin in the
transportation of oxygen and carbon-dioxide present in the

blood. 1+4=5
RomafRe B2 e 9 afte @R I SRemiged R
RemenRer gt &, e

7. What is excretion? What are the excretory products? Write
the process of urea formation. ‘ 1+1+3=5

6w R 2 w1 vyl [ R 2 Rk ageea9 eiftram Rea @
| Or/ 31

What is nucleic acid? How many types of nucleic acid are
there? Describe the molecular structure of DNA. 1+1+3=5

e wpfe 2 RS wifc 3o aorm =2 B, @, 9.7 wRke
o I FCA |
* % W%
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